Name:

Date;
UNIT 10

LESSON 1

Aim: Identifying the characteristics of Cubic, Square Root, and Cube Root Functions
1) Given: y =+x

a) Type of Function: %@ k)@ e m+ 4

b) Graphy = vx
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c) Notice, the function was only graphed for positive x values, explain why?

The OQQ;O:*WQ x-velLRs had errors

d) Identify the domain of this function. e¢) Identify the range of this function.
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2) Graph y=+vx+2
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(a) Identify the domain of this function. (b) Identify the range of this function.
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3) Graph y=9 Down G units
N2

Qigha‘ 4 units

Xy
4 -0
5 -5
{ [-4

(a) Identify the domain of this function.
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4) Given: y=x3
a) Type of Function: CUbI c.

(b) Identify the range of this function.
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b) Graph f(x) = x3

a) ldentify the domain of this function.
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d) Identify the range of this function.
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5) Given: y=\/x

a) Type of Function: CLJ b'e Rao+

b) Graph f(x) = Vx
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¢) Identify the domain of this function.
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6) Sketch y=-3/x—2 and determine the domain and range.
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d) Identify the range of this

function.
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Practice Problems
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Describe the transformation from the parent graph of y = Vx: RP -F l e C -hOh (W P f— +N
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7) Sketch y =-3/x+4 and determine the domain and range. ¢
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Describe the transformation from the parent graph of y = /x: ’[lcp ( f_C"H"OY'\ \QV ey
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8) Sketch y=x’+2and determine the domain and range.

D. 2xIXERY <
K' 2ylyery

Describe the transformation from the parent graph of f(x) = x3 :_Sh\ F‘+ e O] U p
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9) Sketch %x’ = f(x)and determine the domain and range.
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Describe the transformation from the parent graph of £(x) = x* :_/Y\( Erf LA )\ d e_




10) Write a function with a graph that translates y = Jx ineach way.

a. Shifted 9 units to the left

y = \) X+
b. reflected in the x axis
N = - UX_
c. Shifted down 5 units to the right 3 units
V= Jx-3 -5

d. vertical stretch

Y = X



